°
ZaLAEI = ol—=olENl= E
EEI'——l = AQHEJI‘ Ju!-_ E'I'DIE =8 JE, A E|‘|°=|
=S MdYH/XIE olo]x|
oYy
=
047"4* 22 0|= EN AW-6060.
a8 EFEIEEIOHIII , &5t REl =.
EM OpR2]:
RQiA fh3t ®{2|, EE & 2l EotAs IR| HHE, AY
e
JZ chels v 2 Y& 22801 2,4 712
AZEPVC AX7E US. ddEtE FE
Ol Sho Hx] st 2I%|8 REE.
AXMoted E2 18 A5t e ZEH
St U HEE EH 33§
=0
A+ 25mm |
= =i |
22 9
QY
® 2 . 1
i { _
——] _ it f\I;;f\
D Y N — o
~ S Yy
[} S ﬁj
" L i} =
Z= 29
Ed g
FEHS A A = A B D H L 5t3
N
K0223.150203 HIO[X] A 150 32 M5x20 55,5 184 1000
K0223.200203 o[ x| A 200 32 M5x20 55,5 234 1000
K0223.300203 O] x| A 300 32 M5x20 55,5 334 1000
K0223.400203 o] x| A 400 32 M5x20 55,5 434 1000
K0223.500203 o[ x| A 500 32 M5x20 55,5 534 1000
K0223.150202 44 A 150 32 M5x20 55,5 184 1000
K0223.200202 FERS) A 200 32 M5x20 55,5 234 1000
K0223.300202 a4 A 300 32 M5x20 55,5 334 1000
K0223.400202 444 A 400 32 M5x20 55,5 434 1000
K0223.500202 A% A 500 32 M5x20 55,5 534 1000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 11



